TGT ENGLISH

1. Who launched the 90-day campaign 'Azadi Se Antyodaya Tak'?
(A) Amit Shah

(B) Piyush Goyal

(C) Kiren Rijiju

(D) Giriraj Singh

Correct Answer: (D)

2. Which country signed agreements on training staff and IT cooperation to deepen railway
cooperation In Sep 2022?

(A) Russia-India

(B) Ukraine-Turkey

(C) India-Bangladesh

(D) America-India

Correct Answer: (C)

3. The “Donbas War” is currently being fought in
(A) Serbia

(B) Ukraine

(C) Syria

(D) Lebanon

Correct Answer: (B)

4. Pedagogy is the study of
(A) education

(B) learning process

(C) teaching methods

(D) guiding students

Correct Answer: (C)



5. Dyslexia is associated with
(A) mental disorder

(B) mathematical disorder
(C) reading disorder

(D) behavioural disorder

Correct Answer: (C)

6. Which government organizations will develop guidelines for the education of gifted children?
(A) NCERT and NCFCS

(B) NCERT and NCTE

(C) NCERT and NTA

(D) NCERT and SCERT

Correct Answer: (B)

7. Choose the correct synonym of the word ‘Circumvent’.

(A) Lawfully
(B) Benefit
(C) encompass
(D) Straight

Correct Answer: (C)

8. Choose the correctly spelt word.
(A) Obduarute
(B) Obdarute
(C) Obdurate
(D) None of these

Correct Answer: (C)



9. Choose the correct option to replace the italicized error word in the sentence.

They was been waiting here for the last three hours.

(A) is been
(B) were been
(C) have been

(D) been

Correct Answer: (C)

10. | dislike spending my time in
synthetic fabrics.

(A)to iron/ to buy

(B) ironed / bought
(C) ironing / buying
(D)iron / being bought

Correct Answer: C

so | prefer

11. Supply the correct question tag for the following.

I'm right,

(A)amn’t 1?
(B) am not I?
(C)aren’t I?
(D)none

Correct Answer: (C)

clothes made from

12. Which option displays the correct passive formation of the following sentence?

It is impossible to do this.

(A) Doing this is impossible.

(B) This is impossible to be done.
(C) This must not be done.

(D) This can’t be done.

Correct Answer: (B)



13. I don’t know whether she’ll do it or not to.

(A) Whether
(B)To
(C)Or

(D) Not

Correct Answer: (B)

14. Which option displays the correct change of the following into reported speech?

Neera says, “I go for a walk every morning”.

(A) Neera said that she goes for a walk every morning.
(B) Neera says that she goes for a walk every morning.
(C) Neera says that 1 go for a walk every morning.

(D) Neera said that she went for a walk every morning.

Correct Answer: (B)

15. You are required to rearrange these parts, which are labelled P, Q, R and S to produce the
correct sentence.

(P) is one of the most widely used indicators

(Q) of ecosystems and their biodiversity

(R) for assessing the condition

(S) The conservation status of plants and animals

(A)SPRQ
(B) SRQP
(C)QRPS
(D)PQRS

Correct Answer: (A)



16. Choose the correctly punctuated sentence out of the followings.

What do you want young woman the old man said.

(A) What do you want, young woman, the old man said.
(B) “What do you want young woman, the old man said”
(C) “What do you want young woman?”’ the old man said.
(D) “What do you want, young woman?”, the old man said

Correct Answer: (C)

17. did the teacher enter the classroom than the students stood up.

(A) No sooner
(B) Though
(C) While

(D) As soon as

Correct Answer: (A)

18. The assertive form of the given below sentence is
“What a pity we can’t go out!”

(A) Can we go out pitying?

(B) It is a pity that we can’t go out

(C) We can’t pity going out

(D) We pity the people who go out

Correct Answer: (B)



19. My work requires me to spread awareness about the kinds of bullying prevalent in a

student’s life. Did you know that one out of five students is bullied by another

youth? students are scared of opening up to others about instances of bullying
may be happening to or around them.

(A)every; Many; that
(B) every; Few; those
(C) each; Many; those
(D) each; Few; that

Correct Answer: A

Read the passage given below and answer the questions by choosing the most appropriate
options from those given below:

A recent trip to Lucknow was an instant eye-opener and a more instant stimulus to introspection.
The realization of self degradation started from the station itself. All set to fight the autowallah in
Lucknow and accuse him of being a rude fleecer, | was stopped mid-sentence by his demeanour.
He was mild, polished and totally agreeable to whatever | would pay him. He was sure | would
not pay less than what the fare should be because he felt | had enough money to do so. Of course
the respectful way he spoke to me took me completely off guard, and made me a wee bit ashamed.
The aggression which one has to display all the time in Delhi, | realized was not needed here. In
fact, it was shocking for the autowallah to encounter a presumptuous woman yearning for a fight.
That’s what Delhi does to you. It takes away your polish. Unlike Delhi, Lucknow prefers to stay
away from hysterical momentum. It takes an easy pace of life, teaches residents to stay cool, enjoy
food, take siestas and work without hitting the breakneck speed barrier. It has set its priorities right.
It nurtures its young and it loves its old. In Delhi, morning walkers go for expensive paraphernalia.
You need to drive at least five kms to hunt for a park. Back in Lucknow simply walk out of your
house and your walk begins. No traffic and no pollution.

20. The author was all set to fight with the autorickshaw driver in Lucknow as

(A) he expected her to pay more than was due
(B) she was sure he would be behaving badly to her
(C) her experience in Delhi had taught her to mistrust autowallahs

(D) he was unbelievably discourteous

Correct Answer: (C)



